(6-2) The values of outstanding bonds change whenever the going rate of interest changes.  In general, short term interest rates are more volatile than long term interest rate.  Therefore, short term bond prices are more sensitive to interest rate changes than are long term bond prices.  “Is this statement true or false? Explain. 



This statement is false.  According to the Interest Rate Risk Theory, the longer the time to maturity, the more sensitive is the bond price to the change in interest rates.  This is because in the long-run, interest rates are more volatile than in the short run


(6-3) The rate of return you would get if you bought a bond and held it to its maturity date is called the bond’s yield to maturity.    If interest rates in the economy rise after a bond has been issued, what will happen to the bond’s price and to its YTM?  Does the length of time to maturity affect the extent to which a given change in interest rates will affect the bond’s price? 

If interest rates rise after the bond is issued, the price of the bond will decline because there is an inverse relation between interest rates and the price of the bond.  The YTM is also called the “Contractual Rate of Interest”, such an interest is fixed throughout the life of the bond and does not change with the change in interest rates.  

As stated above, the longer the time to maturity, the more sensitive the bond price is to the changes in interest rates.



(6-4)  If you buy a callable bond and interest rates decline, will the value of your bond rise by as much as it would have risen if the bond had not been callable?  Explain
Callable bond has both a market risk and a reinvestment risk. The market risk arises, because even though a bond normally increases in value as interest rates drop, a callable bond will not rise above its call price because the issuer will probably redeem the bond at its call price before maturity. The reinvestment risk exists because a bond is more likely to be called when interest rates are declining, and, thus, the investor will have to settle for a lower rate of return for money that is reinvested.

